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PE M AL | b | % R AL B & #
TS I 1 34.3 1,670,868 1 44.5 1,401,379,926
e o] Bk 2 17.0 828,292 5 6.2 195,216,255
o I 3 13.2 642,252 6 6.0 188,251,762
TR IR 4 5.6 274,250 36 — 883,062
TS Je U 5 5.6 273,654 4 6.8 215,002,690
KIBRIF 6 3.8 186,501 3 7.4 234,288,649
HE 7 3.7 179,078 2 9.3 294,160,251
fo] | Ly U 8 2.4 118,132 9 2.1 65,371,586
FINER 9 2.4 116,720 7 3.5 110,757,056
PRI 10 1.8 88,575 12 1.0 30,587,868
H AR 11 1.3 65,391 16 0.8 24,895,322
A 12 1.3 62,564 18 0.6 18,460,785
=R 13 1.2 56,127 11 1.1 35,338,587
Bl UL 14 1.1 54,230 10 1.2 38,900,219
ITY=p’:! 15 0.9 44,354 13 1.0 30,114,095
HORUER 16 0.9 43,984 8 2.2 69,360,652
TR 17 0.8 38,396 21 0.5 15,606,978
THER 18 0.4 21,202 20 0.5 15,992,850
Koy I 19 0.3 16,010 23 0.3 9,218,480
prp il 20 0.3 14,658 14 0.9 28,877,376
i 0 R 21 0.3 14,499 15 0.9 28,023,257
PRI 22 0.3 13,895 33 0.1 2,402,439
AR R 23 0.2 10,683 19 0.5 17,133,477
(=871 24 0.1 6,773 22 0.3 10,510,196
R lRy b 25 0.1 5,404 27 0.1 4,180,906
Mgt B3 I 26 0.1 3,423 34 0.1 2,378,942
FOap L U 27 0.1 3,250 25 0.2 6,949,252
] I 28 0.1 3,247 24 0.2 7,058,353
e b 29 0.1 2,982 31 0.1 3,294,106
v b 30 0.1 2,554 17 0.6 19,579,790
HRIR 31 — 1,891 26 0.2 5,932,520
TR IR 32 — 1,637 30 0.1 3,438,602
)15 33 — 1,358 28 0.1 3,829,880
REA I 34 — 1,210 37 — 672,506
JEV B IR 35 — 947 39 — 485,594
B LR 36 — 769 29 0.1 3,677,292
WA R 37 — 701 38 — 630,869
[E 38 — 679 35 0.1 1,719,908
5 HUR 39 — 663 32 0.1 2,779,725
AL IR 40 — 50 42 — 9,838
e o U 41 — 38 40 — 176,202
R 42 — 20 41 — 12,744
& 7 100.0 4,871,811 100.0 3,147,540,847
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